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I. Answer in a word:      5x1=5 
1. A fertilizer is an _________ salt. 
2. 2m 4 –D = ________ (full form) 
3.      
 
  
 Name the process involving in this action. 
 
4.   
 
 
 
 
 
5. Which of the following types of manure is obtained by the decomposition  
     of dead plants & animals? 
 a) Compost    b) Green manure  
 c) Farmyard manure  d) All of them 
II. Answer in short:      3x3=9 
1. Distinguish between fertiliser and manure. 
2. Write 2 uses of hoe. 
3. Explain the procedure of thrusting. 
III. Answer in detail:      1x6=6 
1. Explain modern method of irrigation. 


